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QUESTION 1

Which feature enables the output Cisco Transport Planner to directly provision an NCS 2000 network element? 

A. easy setup 

B. automatic node setup 

C. software defined networking 

D. autoprovisioning 

Correct Answer: B 

 

QUESTION 2

Which two options are the two modes of operation for the 10 port SFP+ line card? (Choose two.) 

A. 10 x 10G muxponder client for 100G line card 

B. wire speed encryption 

C. 5 x 10G transponder 

D. dispersion compensation 

Correct Answer: AC 

 

QUESTION 3

Refer to the exhibit. 

Which option describes the purpose of the selected button in Cisco Transport Planner? 

A. enters network design mode 

B. performs network analysis 

C. views reports 

D. enters network upgrade mode 

Correct Answer: B 
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QUESTION 4

The 10G Wire Speed Encryption line card encrypts the payload of which protocol? 

A. Ethernet 

B. OTN 

C. IP 

D. SONET/SDH 

Correct Answer: B 

 

QUESTION 5

Which type of architecture employs nLight ROADM? 

A. broadcast and select 

B. drop and continue 

C. route and select 

D. pass through and drop 

Correct Answer: C 
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